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If in each of the given words each of the consonants is changed to next letter and 
each of the vowel is changed to previous letter in the EnglishAlphabetical series, 
then how many words thus formed will two vowel appear?
यदि दिए गए प्रत्येक शब्ि में प्रत्येक व्यंजन को अगले अक्षर में बिल दिया जाता है और 
प्रत्येक स्वर को अगें्रजी वर्णमाला श्रंखला में पिछले अक्षर में बिल दिया जाता है, तो इस प्रकार 
बनने वाले ककतने शब्ि िो स्वर दिखाई िेंगे?

(1) None
(2) One
(3) Two
(4) Three
(5) More than three
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If the given words are arranged in the order as they would appears in a 
dictionary order from left to right, which of the following will be third from 
the left?
यदि दिए गए शब्िों को क्रम में व्यवस्स्ित ककया जाता है जसैा कक वे बाएं से िाएं एक 
शब्िकोश क्रम में दिखाई िेंगे, तो ननम्नललखखत में से कौन बाएं से तीसरा होगा?

(1)SUM 
(2) PUT 
(3) THE 
(4) FOR 
(5)AND
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Mother’s or Father’s Father Grand Father

Mother’s or Father’s Mother Grand Mother

Mother’s or Father’s Brother           Uncle

Mother’s or Father’s Sister Aunt

Son’s Wife                                          Daughter-in-law

Daughter’s Husband                         Son-in-law

Relations from Mother's side are called "Maternal" 

relations and relations from Father's side are called 

"Paternal" relations.
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Husband’s or Wife’s Brother Brother-in-law

Husband’s or Wife’s Sister           Sister-in-law

Sister’s/Brother’s Son Nephew

Sister’s/Brother’s Daughter Niece

Brother’s Wife Sister-in-law

Sister’s Husband Brother-in-law

Real Brother & Sister Sibling
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There are seven members A, D, K, L, R, S and V in a family which consists of three generations. D is the only son 
of A, who is son of K. S is the brother-in-law of K, who has no siblings. L has three grandchildren. Gender of L 
and V is different.
तीन िीद़ियों वाले एक िररवार में सात सिस्य A, D, K, L, R, S और V हैं। D, A का इकलौता िुत्र है, जो K का िुत्र है। 
S, K का साला है, स्जसका कोई भाई-बहन नह ं है। L के तीन िोते-िोनतयां हैं। L और V का ललगं लभन्न है।

How is R related to S’s brother? a. Daughter-in-law b. 
Daughter c. Grand daughter d. Sister e. None of the above

How is A related to V? a. Son b. Father c. Brother d. 
Brother-in-law e. None of the above

Who is the grandmother of V? a. S b. L c. K d. D e. None of 
the above
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There are seven members in a family (A, B, C, D, E, F and G) which consists of three generations. There is only 
one married couple in the family. The least number of persons in the family is only in 3rd generation. A is the 
only son of B, who has three children. F is the brother in law of C, who is father of G. E is the paternal aunt of D. 
G is not the mother of D. एक िररवार में सात सिस्य हैं (ए, बी, सी, डी, ई, एफ और जी) स्जसमें तीन िीद़ियां 
हैं। िररवार में केवल एक पववादहत जोडा है। िररवार में व्यस्ततयों की न्यूनतम संख्या केवल तीसर  िी़ि  में है। A, 
B का इकलौता िुत्र है, स्जसके तीन बच्चे हैं। F, C का ब्रिर इन लॉ है, जो G का पिता है। E, D की िैतरक आंट  है। 
G, D की माता नह ं है।

How is F related to E? a. Father b. Paternal Uncle c. 
Maternal Uncle d. Brother e. None of the above

How is D related to mother of G? a. Son b. Either C or E c. 
Grand daughter d. Daughter in law e. Grandson 

How is A’s father related to D, if D is a female? a. Paternal 
Aunt b. Mother c. Grandfather d. Maternal Aunt e. None 
of the above
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There are six members D, K, L, M, Q and R in a family. Q is the father-in-law of L. K is the only son of D and is 
not married. D is the brother of R. Gender of R and M is same. L has at least two children. Q has at most 2 
children. 
एक िररवार में छह सिस्य D, K, L, M, Q और R हैं। Q, L का ससुर है। K, D का इकलौता िुत्र है और पववादहत 
नह ं है। D, R का भाई है। R का ललगं और M समान है। L के कम से कम िो बच्चे हैं। Q के अधिकतम 2 बच्चे 
हैं।

How is L related to M? a. Mother b. Sister c. Daughter d. 
Sister-in-law e. None of the above

How is R related to Q? a. Son b. Sister c. Mother d. 
Daughter e. None of the above 

If C is the only son-in-law of Q, then how is C related to 
M’s father? a. Son-in-law b. Brother c. Father-in-law d. 
Brother-in-law e. None of the above 
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There are six members C, D, K, L, M and R in a family, which consists of three generations. There are two 
couples in the family. R is the father of C, who is the father of M.C has no brother. K is the mother-in-law of 
D. Neither D nor M is male. L is the sister of C. 
एक िररवार में छह सिस्य C, D, K, L, M और R हैं, स्जसमें तीन िीद़ियां हैं। िररवार में िो जोड ेहैं। R, C का 
पिता है, जो M का पिता है। C का कोई भाई नह ं है। K, D की सास है। न तो D और न ह  M िुरुष है। L, C की 
बहन है।

How is L related to D? a. Aunt b. Sister c. Daughter d. 
Sister-in-law e. None of the above

How is M related to D’s husband? a. Daughter b. Sister c. 
Grand Daughter d. Niece e. None of the above 

How K related to L? a. Daughter b. Sister c. Mother d. 
Niece e. None of the above
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There are six members M, Q, R, S, T and V in a family which consists of three generations. Q is the 
daughter-inlaw of M.R is the only son of S, whose mother has a sibling. M has more than one son. T is a 
female member. S is not the uncle of R.
तीन िीद़ियों वाले एक िररवार में छह सिस्य M, Q, R, S, T और V हैं। Q, M की बहू है। R, S का इकलौता िुत्र 
है, स्जसकी मााँ का एक भाई है। M के एक से अधिक िुत्र हैं। T एक मदहला सिस्य है। S, R का अंकल नह ं है।

How is T related to S? a. Sister b. Daughter c. Aunt d. 
Sister-in-law e. None of the above  

How is V related to R? a. Sister b. Uncle c. Grandfather d. 
Can’t be determined e. None of the above

How R related to V? a. Sister b. Uncle c. Nephew d. Son e. 
None of the above 
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Eight member, P, Q, R, S, T, U, V and W belong to a family consists of four generations. No single person in 
the family is a parent. W’s father’s only sister’s father’s mother is Q. S is the only daughter-in-law of P, who is 
married to Q. R is the father of U. T is the only sister-in-law of V. T is unmarried. Gender of W and U is same.
आठ सिस्य, P, Q, R, S, T, U, V और W एक िररवार से संबंधित हैं स्जसमें चार िीद़ियााँ हैं। िररवार में कोई भी 
व्यस्तत माता-पिता नह ं है। W के पिता की इकलौती बहन के पिता की माता Q है। S, P की इकलौती बहू है, जो 
Q से पववादहत है। R, U का पिता है। T, V की एकमात्र भाभी है। T अपववादहत है। W और U का ललगं समान है।

How is Q related to T? a. Mother b. Grand mother c. Father 
d. Brother e. None of these 

Which of the following statement is true regarding R? a. R 
is father of P b. R is brother of U c. R is sister of S d. R is 
father of T e. None is true.

Who is the grandfather of U? a. Q b. R c. P d. S e. None of 
these 
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There are seven persons K, M, N, R, S, T and V in a family, which has three generations. T is 
the daughter-in-law of K. R is the father of M. K is the son-in-law of sister of N. Gender of N 
and V is same. S is a female. एक परिवाि में सात व्यक्तत K, M, N, R, S, T औि V हैं, क्िनकी 
तीन पीढ़ियााँ हैं। T, K की बहू है। R, M का पपता है। K, N की बहन का दामाद है। N औि V का 
ललिंग समान है। स एक मढहला है।

How is R related to V? a. Father-in-law b. 
Brother c. Father d. Grand father e. None of the 
above 

How is S related to M? a. Sister b. Mother c. 
Mother-in-law d. Daughter e. None of the above 

How N related to K? a. Paternal Uncle b. Maternal 
Aunt c. Maternal Uncle d. Paternal Aunt e. None 
of these
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There are seven members A, B, C, D, E, F and G in a family, which consists of three generations. B 
is the husband of D’s sister. G is the nephew of D. C is the granddaughter of E and sister of G. F is 
the wife of E and has more than one child. 
एक िररवार में सात सिस्य ए, बी, सी, डी, ई, एफ और जी हैं, स्जसमें तीन िीद़ियां हैं। B, D की 
बहन का िनत है। G, D का भतीजा है। C, E की िोती है और G की बहन है। F, E की ित्नी है और 
उसके एक से अधिक बच्चे हैं।

How is A related to E? a. Sister b. Can’t be 
determined c. Daughter d. Daughter in law e. Mother

How is D related to C, if E has only one daughter? a. 
Aunt b. Paternal Uncle c. Mother in law d. Maternal 
Uncle e. Can’ be determined

How G related to E? a. Sister b. Grandson c. Daughter 
d. Daughter in law e. Mother
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Eight members in a family - Sudha, Ravi, Shardul, Sakshi, 
Teju, Ramu, Deepak and Ramya went to Shimla to beat 
their summer heat. Family consists of 2 couples. Ramu has 
four children. Out of them, only one is married. The 
married son of Ramu has a daughter named Sakshi. Sudha 
is grandmother of Sakshi. Sakshi’s mother is the wife of 
Shardul who has an only sister named Ramya. Ravi is the 
younger brother of Shardul, who is not eldest. Teju is the 
wife of the brother of Ravi. Ramu is a male.
एक िररवार में आठ सिस्य - सुिा, रपव, शािुणल, साक्षी, 
तेजू, रामू, ि िक और रम्या अिनी गमी को मात िेने के 
ललए लशमला गए िे। िररवार में 2 जोड ेहैं। रामू के चार 
बच्चे हैं। इनमें से केवल एक की ह  शाि  हुई है। रामू के 
पववादहत िुत्र की एक िुत्री है स्जसका नाम साक्षी है। सुिा 
साक्षी की िाि  हैं। साक्षी की मााँ शािुणल की ित्नी है स्जसकी 
एक ह  बहन है स्जसका नाम राम्या है। रपव शािुणल का 
छोटा भाई है, जो सबसे बडा नह ं है। तेजू रपव के भाई की 
ित्नी है। रामू नर है।
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How Sakshi is related to Ravi? a. Sister b. 
Daughter c. Sister in law d. Niece e. Wife

Who is Teju in this family? a. Ravi’s sister b. 
Sudha’s Mother in law c. Deepak’s wife d. 
Shardul’s daughter e. Ravi’s sister in law

Who is the elder brother of Shardul? a. Ramu b. 
Ravi c. Deepak d. Cannot be determined e. None 
of the above 
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There are six members A, B, C, D, E and F in a family which consists 
of only one married couple and three generations. Each member 
has different number of coins among 4, 8, 11, 13, 16 and 19. Person 
with 4 coins is the paternal uncle of D. The only sister of D has two 
coins more than the son of C. The sibling of the person with 13 
coins has one daughter. C is a female member. No female has 8 
coins. Person with 16 coins is elder than F, who has 19 coins such 
that both are not in same generation. Neither A nor E is married to 
C. E is younger than A such that both are not in same generation. 
एक िररवार में छह सिस्य A, B, C, D, E और F हैं, स्जसमें केवल एक 
पववादहत जोडा और तीन िीद़ियां हैं। प्रत्येक सिस्य के िास 4, 8, 
11, 13, 16 और 19 में लसतकों की अलग-अलग संख्या है। 4
लसतकों वाला व्यस्तत D का चाचा है। D की इकलौती बहन के िास C 
के िुत्र से िो लसतके अधिक हैं। 13 लसतकों वाले व्यस्तत की एक 
बेट  है। C एक मदहला सिस्य है। ककसी भी मदहला के िास 8 लसतके 
नह ं हैं। 16 लसतकों वाला व्यस्तत F से बडा है, स्जसके िास 19 
लसतके इस प्रकार हैं कक िोनों एक ह  िी़ि  में नह ं हैं। न तो A और 
न ह  E, C से पववादहत है। E, A से छोटा है, जैसे कक िोनों एक ह  
िी़ि  में नह ं हैं।
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How is E related to F? a. Father b. Aunt c. Grand 
father d. Brother e. None of these.

Who among the following doesn’t have more 
than 13 coins? I. B II. A III. C a. Both I and II b. 
Only II c. Both II and III d. Only III e. Both I and III

The person with 16 coins is the ____ of person 
with lowest number of coins. a. Sister-in-law b. 
Sister c. Son d. Niece e. None of these.
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